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C8T.1

C8T.2

Two hockey pucks are initially at rest on a horizontal
plane of frictionless ice. Puck A has twice the mass of
puck B. Imagine that we apply the same constant force
to each puck for the same interval of time dt. How do

the pucks’ kinetic energies compare at the end of thls
interval? ' |

A. K4 =4Kp
B. K4 =2Kp
C. K4 = K5
D. Kz =2K,4
E. Kg =4K4

E. Other (specify)

Two hockey pucks are initially at rest on a horizontal
plane of frictionless ice. Puck A has twice the mass of
puck B. Imagine that we apply the same constant
force to each puck until each puck crosses a finish line
1 m from its starting point. How do the pucks’ kinetic
energies compare when each crosses this finish line?

A. K4 =4Kp

B. K4 =2Kp
C. K4 =Kz ~
D. Kg =2K4
E. Kg =4K4

E. Other (specify)



C8T.3

C8T.4

A crate is being lifted vertically upward at a constant

speed. Which interaction contributes negative k-work
- to the crate as it rises? (Ignore friction.)

A. The crate’s contact interaction with the cable lift-
ing it.
B. The crate’s gravn:anonal interaction with the earth.

'C. Other (specify).

D. Neither A-nor B; the crate’s kinetic energy 1s con-
stant!

Imagine that we suspend an object from the ceiling
by a string and then set it swinging back and forth.
Which of the following is/are responsible for sig-
nificant changes in the object’s k1net1c energy as it
swings?

A.The object’s gravitational mteractlon with the

eartn, :
B. The object’s contact interaction Wlth the string.

- C. The centrifugal interaction pullmg the object out-

‘ward.
D. A and B only.

E. All the above.
F. None of the above.
T. Other (specify).




C8T.5 When an object slides down a frictionless incline, the
contact interaction between the object and the incline .
does not contribute to the object’s kinetic energy,
true (T) or false (F)? This means that it also does not
transfer any momentum to the object, T or F?

C8T.6 Imagine that a very heavy ball is suspended by a
' chain. Imagine that I pull the ball away from its equi-
librium position, hold it against my nose (with the
chain taut), and release the ball from rest. The ball
swings away from me and then back toward me. I
can be confident that it will not smash my nose (as -
long as I don’t move), T or F?

CS8T.7 Abead slides from rest down a frictionless wire in the
earth’s gravitational field. The diagram shows a set
of possible shapes that the wire might have. At the
~ bottom of which will the bead have the ‘highest
speed? (If the final speed is the same for all shapes,

answer F.)

Bead
(starting
position)
Gravity

Bead

(final

position)

C8T.8 . In the situation described in problem C8T.7, along the
wire of which shape will the bead take the shortest
time to get from the top to the bottom? (If the time is
the same for all shapes, answer F)



C8T.9 A skier starts from rest, slides down a frictionless
slope, and slides off a ski jump angled upward at 45°
with respect to the vertical. How does the skier’s
height h at the peak of the jump compare to hlS or her -
original height H?

A h<H

B.h~H
C.h>H
D. There is not enough mformatlon prov1ded to tell.
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